Maytag MFR80PCAVS 01 - FRAME

Maytag Commercial Maytag MFR80OPCAVS Washer Parts Parts Diagram 01 - FRAME
Click on the part number to view part

Original Part Number Replaced By Part Description
001 23002419 Frame
002 23002420 Thermostat, Support
003 NLA Not Available SCREW (M8X15)
004 23002353 23001157 Bolt
005 23002423 23001361 Bolt
006 23001643 23002424 Washer M6.4
007 23001734 23002425 Locker Washer M6
008 23002426 23002950 Lock Washer M4
009 23002427 Washer, Lock
010 23001608 Washer Lu
011 23002428 Clip, Cable
012 NLA Not Available LABEL, EARTH
013 23003370 Earth Plate
014 23002460 Thermostat
015 23002432 Holder, Steam Valve

016 23002433 Holder


http://www.pwslaundry.com/c-299360-commercial-maytag-mfr80pcavs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7798439-maytag-23002419-washer-frame.html
http://www.pwslaundry.com/i-7798440-maytag-23002420-washer-thermostat-support.html
http://www.pwslaundry.com/i-7797745-maytag-23001157-washer-bolt.html
http://www.pwslaundry.com/i-7797880-maytag-23001361-washer-bolt.html
http://www.pwslaundry.com/i-7798442-maytag-23002424-washer-washer-m6-4.html
http://www.pwslaundry.com/i-7798443-maytag-23002425-washer-locker-washer-m6.html
http://www.pwslaundry.com/i-7798734-maytag-23002950-washer-lock-washer-m4.html
http://www.pwslaundry.com/i-7798444-maytag-23002427-washer-washer-lock.html
http://www.pwslaundry.com/i-7798004-maytag-23001608-washer-washer-lu.html
http://www.pwslaundry.com/i-7798445-maytag-23002428-washer-clip-cable.html
http://www.pwslaundry.com/i-7798969-maytag-23003370-washer-earth-plate.html
http://www.pwslaundry.com/i-7798465-maytag-23002460-washer-thermostat.html
http://www.pwslaundry.com/i-7798446-maytag-23002432-washer-holder-steam-valve.html
http://www.pwslaundry.com/i-7798447-maytag-23002433-washer-holder.html

017
018
019
020
021
022
023

23002434
23002435
23002436
23002437
23002438
23002358
23002357

23001266

23002440

Not Available

Screw

Nut M8

NUT (M6)

Washer M8

Washer M4.3

LOCK WASHER M8
Washer, Spring Lock


http://www.pwslaundry.com/i-7798448-maytag-23002434-washer-screw.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7798449-maytag-23002437-washer-washer-m8.html
http://www.pwslaundry.com/i-7798450-maytag-23002438-washer-washer-m4-3.html
http://www.pwslaundry.com/i-7798395-maytag-23002358-washer-washer-m8.html
http://www.pwslaundry.com/i-7798451-maytag-23002440-washer-washer-spring-lock.html

	Maytag MFR80PCAVS 01 - FRAME

